

Ewa Schmeidel, Małgorzata Migda, Anna Musielak

OSCILLATORY PROPERTIES OF FOURTH ORDER NONLINEAR DIFFERENCE EQUATIONS WITH QUASIDIFFERENCES

Abstract. In this paper we present the oscillation criterion for a class of fourth order nonlinear difference equations with quasidifferences.

Keywords: nonlinear difference equation, oscillatory solution, nonoscillatory solution, fourth order.

Mathematics Subject Classification: 39A10

1. INTRODUCTION

Consider the difference equation

$$\Delta(a_n \Delta(b_n \Delta(c_n \Delta y_n))) + f(n, y_n) = 0, \quad n \in \mathcal{N} \quad (\text{E})$$

where $\mathcal{N} = \{0, 1, 2, \dots\}$, Δ is the forward difference operator defined by $\Delta y_n = y_{n+1} - y_n$, (a_n) , (b_n) and (c_n) are sequences of positive real numbers.

Function $f : \mathcal{N} \times \mathcal{R} \rightarrow \mathcal{R}$.

By a solution of equation (E) we mean a sequence (y_n) which is defined for $n \in \mathcal{N}$ and satisfies equation (E) for n sufficiently large. We consider such solutions only which are nontrivial for all large n . A solution of equation (E) is called oscillatory if its terms are not eventually positive or eventually negative. Otherwise it is called nonoscillatory. Equation (E) is called oscillatory if each solution (y_n) of this equation is oscillatory. Equations of the form (E) are conveniently classified according to the nonlinearity of $f(k, y)$ with respect to y . Equation (E) is said to be *superlinear* if, for each fixed integer k , $\frac{f(k, y)}{y}$ is nondecreasing in y for $y > 0$ and nonincreasing in y for $y < 0$. Equation (E) is called *strongly superlinear* if there is a number $\alpha > 1$

such that, for each fixed integer k , $\frac{f(k,y)}{|y|^{\alpha} \operatorname{sgn} y}$ is nondecreasing in y for $y > 0$ and nonincreasing in y for $y < 0$. Clearly, if equation (E) is superlinear, then $f(\cdot, y)$ is nondecreasing on $(0, \infty)$.

In the last few years there has been an increasing interest in the study of oscillatory and asymptotic behavior of solutions of difference equations (see the monographs by Agarwal [1], by Elaydi [3] and by Kelly and Peterson [6]). Compared with second order difference equations, the study of higher order equations, and in particular fourth order equations (see for example [2, 4, 5, 7–20]) has received considerably less attention. Results obtained here are motivated by some results obtained by Thandapani and Arockiasamy in [19], and by Migda and Schmeidel in [9].

The purpose of this paper is to establish a sufficient condition for equation (E) to be oscillatory.

Throughout the rest of our investigations, one or several of the following assumptions will be imposed:

(H1) $a_n \geq c_n$, for all large n , and (a_n) is bounded away from zero.

(H2) $\sum_{i=1}^{\infty} \frac{1}{a_i} = \infty$, $\sum_{i=1}^{\infty} \frac{1}{b_i} < \infty$.

(H3) $\sum_{j=1}^{\infty} \frac{1}{c_j} \sum_{i=j}^{\infty} \frac{1}{b_i} < \infty$.

(H4) $yf(n, y) > 0$ for all $y \neq 0$ and $n \in \mathcal{N}$.

Let us denote

$$\mu_{n,N} = \sum_{i=N}^{n-1} \frac{1}{c_i},$$

$$\rho_n = \sum_{j=n}^{\infty} \frac{1}{c_j} \sum_{i=j}^{\infty} \frac{1}{b_i}$$

and

$$\nu_{n,N} = \frac{1}{a_n} \sum_{i=N}^{n-1} \frac{1}{c_i}.$$

Conditions (H1) and (H2) imply $\lim_{n \rightarrow \infty} \mu_{n,N} = \infty$.

2. COMMON LEMMAS

In [9] we can find the following lemmas which will be used in this paper.

Lemma 1. Assume that (H1)–(H4) hold. Let (y_n) be an eventually positive solution of equation (E), then one of the following four cases holds:

- (I) $c_n \Delta y_n > 0, \quad b_n \Delta(c_n \Delta y_n) > 0, \quad a_n \Delta(b_n \Delta(c_n \Delta y_n)) > 0,$
- (II) $c_n \Delta y_n > 0, \quad b_n \Delta(c_n \Delta y_n) < 0, \quad a_n \Delta(b_n \Delta(c_n \Delta y_n)) > 0,$
- (III) $c_n \Delta y_n > 0, \quad b_n \Delta(c_n \Delta y_n) < 0, \quad a_n \Delta(b_n \Delta(c_n \Delta y_n)) < 0,$
- (IV) $c_n \Delta y_n < 0, \quad b_n \Delta(c_n \Delta y_n) > 0, \quad a_n \Delta(b_n \Delta(c_n \Delta y_n)) > 0.$

for large n .

Lemma 2. Assume that (H1)–(H4) and Case (IV) of Lemma 1 hold. Then there are a constant k and an integer N such that the following inequalities hold

$$y_n \geq b_n \Delta(c_n \Delta y_n) \rho_n, \tag{1}$$

$$y_n \geq k \Delta(b_n \Delta(c_n \Delta y_n)) \rho_n \sum_{i=N}^{n-1} \frac{1}{a_i}, \text{ for } n \geq N.$$

Remark 1. Assume that (H1)–(H4) and Case (III) of Lemma 4 hold. Then there are a constant k and an integer N such that the following inequalities hold

$$y_n \geq -b_n \Delta(c_n \Delta y_n) \rho_n,$$

$$y_n \geq -k \Delta(b_n \Delta(c_n \Delta y_n)) \rho_n \sum_{i=N}^{n-1} \frac{1}{a_i}, \text{ for } n \geq N. \tag{2}$$

Lemma 3. Assume that (H1)–(H4) hold. Let (y_n) be an eventually positive solution of equation (E). Then there exist positive constants k^* and k^{**} such that

$$k^* \rho_n \leq y_n \leq k^{**} \mu_{n,N}, \text{ for large } n. \tag{3}$$

We present an oscillation criterion for equation (E) in strongly superlinear cases.

Theorem 1. Assume that equation (E) is strongly superlinear,

$$\text{sequence } (c_n) \text{ is nondecreasing,} \tag{4}$$

$$\lim_{n \rightarrow \infty} \nu_{n,N} > 0 \tag{5}$$

and conditions (H1)–(H4) hold. If there exists a positive constant M such that

$$a_n \leq M c_{n-1} \text{ for large } n, \tag{6}$$

and

$$\sum_{n=1}^{\infty} \nu_{n,N} |f(n, c \rho_n)| = \infty \tag{7}$$

for all $c \neq 0$, then equation (E) is oscillatory.

Proof. Suppose for contrary that $y_n > 0$ for large n . (The proof in the case $y_n < 0$ is analogous and hence omitted.) Chose $N \in \mathcal{N}$ so large that Case (i) (where successively i= (I), (II), (III), (IV)) from Lemma 1, (1), (2), (3), (6), $\rho_n \leq 1$ and $\mu_{n,N} \geq 1$ hold for $n \geq N$.

Case (I)

Since $c_n \Delta y_n > c_N \Delta y_N$ for $n \geq N$, by summation we get

$$y_n > y_N + c_N \Delta y_N \sum_{i=N}^{n-1} \frac{1}{c_i}.$$

Hence $y_n > c^* \sum_{i=N}^{n-1} \frac{1}{c_i}$ where $c^* = c_N \Delta y_N > 0$. So,

$$y_n \geq c^* \mu_{n,N}. \quad (8)$$

From (H3) and equation (E)

$$\Delta(a_n \Delta(b_n \Delta(c_n \Delta y_n))) < 0.$$

Hence, by (I), $(a_n \Delta(b_n \Delta(c_n \Delta y_n)))$ is a positive decreasing sequence. Then limit of this sequence exists and it is finite. Set

$$\lim_{n \rightarrow \infty} a_n \Delta(b_n \Delta(c_n \Delta y_n)) = c^{**} \geq 0. \quad (9)$$

From equation (E),

$$f(n, y_n) = -\Delta(a_n \Delta(b_n \Delta(c_n \Delta y_n))).$$

Summing the above equation over i from N to $n-1$, we obtain

$$\sum_{i=N}^{n-1} f(i, y_i) = -a_n \Delta(b_n \Delta(c_n \Delta y_n)) + x a_N \Delta(b_N \Delta(c_N \Delta y_N)).$$

Letting $n \rightarrow \infty$, by (9) we get

$$\sum_{i=N}^{\infty} f(i, y_i) = -c^{**} + a_N \Delta(b_N \Delta(c_N \Delta y_N)) < \infty. \quad (10)$$

By (3), and strong superlinearity of f , we get

$$\frac{f(i, k^* \rho_i)}{(k^* \rho_i)^\alpha} \leq \frac{f(i, y_i)}{(y_i)^\alpha}, \quad \text{where } \alpha > 1. \quad (11)$$

Since $0 < \rho_i \leq 1$, there is $(\rho_i)^\alpha \leq 1$ and $(\frac{y_i}{\rho_i})^\alpha \geq (y_i)^\alpha$. So, by (8) and $\mu_{i,N} \geq 1$

$$\left(\frac{y_i}{\rho_i}\right)^\alpha \geq (c^*)^\alpha (\mu_{i,N})^\alpha \geq (c^*)^\alpha \mu_{i,N}.$$

From the above and (11)

$$f(i, y_i) \geq \frac{f(i, k^* \rho_i)}{(k^*)^\alpha (\rho_i)^\alpha} (y_i)^\alpha > \left(\frac{c^*}{k^*}\right)^\alpha \mu_{i,N} f(i, k^* \rho_i).$$

Summing the above, by (10) we get

$$\infty > \sum_{i=N}^\infty f(i, y_i) \geq \left(\frac{c^*}{k^*}\right)^\alpha \sum_{i=N}^\infty \mu_{i,N} f(i, k^* \rho_i)$$

for some positive constant k^* . By (H1) and the above

$$\sum_{n=N}^\infty \nu_{n,N} f(n, k^* \rho_n) < \infty.$$

This contradicts (7), which gives us the required result.

Case (II)

Multiplying equation (E) by $\mu_{n,N}$, we get

$$\mu_{n,N} f(n, y_n) = -\mu_{n,N} \Delta(a_n \Delta(b_n \Delta(c_n \Delta y_n))).$$

Summing the above equality from N to $n - 1$, we derive

$$\begin{aligned} \sum_{i=N}^{n-1} \mu_{i,N} f(i, y_i) &= - \sum_{i=N}^{n-1} \mu_{i,N} \Delta(a_i \Delta(b_i \Delta(c_i \Delta y_i))) = \\ &= - \sum_{i=N}^{n-1} \Delta(\mu_{i-1,N} a_i \Delta(b_i \Delta(c_i \Delta y_i))) + \sum_{i=N}^{n-1} \Delta(\mu_{i-1,N})(a_i \Delta(b_i \Delta(c_i \Delta y_i))) = \\ &= -\mu_{n-1,N} a_n \Delta(b_n \Delta(c_n \Delta y_n)) + \mu_{N-1,N} a_N \Delta(b_N \Delta(c_N \Delta y_N)) + \\ &\quad + \sum_{i=N}^{n-1} \frac{1}{c_{i-1}} a_i \Delta(b_i \Delta(c_i \Delta y_i)) = \\ &= -\mu_{n-1,N} a_n \Delta(b_n \Delta(c_n \Delta y_n)) + \sum_{i=N}^{n-1} \frac{a_i}{c_{i-1}} \Delta(b_i \Delta(c_i \Delta y_i)). \end{aligned}$$

So, by (6)

$$\begin{aligned} \sum_{i=N}^{n-1} \mu_{i,N} f(i, y_i) &\leq M \sum_{i=N}^{n-1} \Delta(b_i \Delta(c_i \Delta y_i)) - \mu_{n-1,N} a_n \Delta(b_n \Delta(c_n \Delta y_n)) = \\ &= M b_n \Delta(c_n \Delta y_n) - M b_N \Delta(c_N \Delta y_N) - \mu_{n-1,N} a_n \Delta(b_n \Delta(c_n \Delta y_n)) < \\ &< -M b_N \Delta(c_N \Delta y_N) - \mu_{n-1,N} a_n \Delta(b_n \Delta(c_n \Delta y_n)). \end{aligned}$$

Hence

$$\sum_{i=1}^\infty \mu_{i,N} f(i, y_i) < \infty. \tag{12}$$

From (11)

$$f(n, y_n) \geq (k^*)^{-\alpha} \left(\frac{y_n}{\rho_n}\right)^\alpha f(n, k^* \rho_n).$$

Hence, by (3)

$$\sum_{n=N}^\infty \mu_{n,N} f(n, y_n) \geq (k^*)^\alpha \sum_{n=N}^\infty \left(\frac{y_n}{\rho_n}\right)^\alpha f(n, k^* \rho_n) \mu_{n,N} \geq \sum_{n=N}^\infty \mu_{n,N} f(n, k^* \rho_n).$$

By (12), (H1) and the above

$$\sum_{n=N}^\infty \nu_{n,N} f(n, k^* \rho_n) < \infty.$$

This contradicts (7), which gives us the required result.

Case (III)

By the mean value theorem

$$-\Delta([a_n \Delta(-b_n \Delta(c_n \Delta y_n))]^{1-\alpha}) = (1 - \alpha) \xi^{-\alpha} \Delta(a_n \Delta(b_n \Delta(c_n \Delta y_n))),$$

where $\alpha > 1$ and $a_n \Delta(-b_n \Delta(c_n \Delta y_n)) < \xi < a_{n+1} \Delta(-b_{n+1} \Delta(c_{n+1} \Delta y_{n+1}))$.

Therefore, using equation (E), (3), (2) and the strong superlinearity of equation (E) in the above, we get

$$\begin{aligned} -\Delta([a_n \Delta(-b_n \Delta(c_n \Delta y_n))]^{1-\alpha}) &\geq (\alpha - 1)[a_n \Delta(-b_n \Delta(c_n \Delta y_n))]^{-\alpha} f(n, y_n) = \\ &= (\alpha - 1)[a_n \Delta(-b_n \Delta(c_n \Delta y_n))]^{-\alpha} \frac{f(n, y_n)}{(y_n)^\alpha} (y_n)^\alpha \geq \\ &\geq (\alpha - 1)[a_n \Delta(-b_n \Delta(c_n \Delta y_n))]^{-\alpha} \frac{f(n, k^* \rho_n)}{(k^* \rho_n)^\alpha} \left(-k \Delta(b_n \Delta(c_n \Delta y_n)) \rho_n \sum_{i=N}^{n-1} \frac{1}{a_i}\right)^\alpha = \\ &= (\alpha - 1) \left(\frac{k}{k^*}\right)^\alpha (a_n)^{-\alpha} \left(\sum_{i=N}^{n-1} \frac{1}{a_i}\right)^\alpha f(n, k^* \rho_n), \end{aligned}$$

for $n \geq N$. Summing the above, we get

$$\begin{aligned} -[a_n \Delta(-b_n \Delta(c_n \Delta y_n))]^{1-\alpha} + [a_N \Delta(-b_N \Delta(c_N \Delta y_N))]^{1-\alpha} &\geq \\ &\geq (\alpha - 1) \left(\frac{k}{k^*}\right)^\alpha \sum_{i=N}^{n-1} \frac{1}{(a_i)^\alpha} \left(\sum_{j=N}^{i-1} \frac{1}{a_j}\right)^\alpha f(i, k^* \rho_i). \end{aligned}$$

Since (4), by (6) there is $a_j \leq M c_j$. Hence

$$\begin{aligned} [a_N \Delta(-b_N \Delta(c_N \Delta y_N))]^{1-\alpha} &\geq (\alpha - 1) \left(\frac{k}{k^*}\right)^\alpha \sum_{i=N}^{n-1} \frac{1}{(a_i)^\alpha} \left(\sum_{j=N}^{i-1} \frac{1}{a_j}\right)^\alpha f(i, k^* \rho_i) \geq \\ &\geq (\alpha - 1) \left(\frac{kM^\alpha}{k^*}\right)^\alpha \sum_{i=N}^{n-1} (\nu_{i,N})^\alpha f(i, k^* \rho_i). \end{aligned}$$

So

$$\sum_{i=N}^{\infty} (\nu_{i,N})^\alpha f(i, k^* \rho_i) < \infty.$$

Since (5) then

$$\sum_{i=N}^{\infty} \nu_{i,N} f(i, k^* \rho_i) < \infty.$$

This contradicts (7), which gives us the required result.

Case (IV)

Summing equation (E) from n to ∞ , we get

$$a_n \Delta(b_n \Delta(c_n \Delta y_n)) \geq \sum_{i=n}^{\infty} f(i, y_i),$$

and by (6)

$$\Delta(b_n \Delta(c_n \Delta y_n)) \geq \frac{1}{a_n} \sum_{i=n}^{\infty} f(i, y_i) \geq \frac{1}{M} \frac{1}{c_{n-1}} \sum_{i=n}^{\infty} f(i, y_i).$$

Summing the above from N to $n - 1$, we obtain

$$\begin{aligned} b_n \Delta(c_n \Delta y_n) - b_N \Delta(c_N \Delta y_N) &\geq \\ &\geq \frac{1}{M} \sum_{i=N}^{n-1} \frac{1}{c_{i-1}} \sum_{j=i}^{\infty} f(j, y_j) \geq \frac{1}{M} \sum_{i=N}^{n-1} \frac{1}{c_{i-1}} \sum_{j=i}^{n-1} f(j, y_j) = \\ &= \frac{1}{M} \sum_{i=N}^{n-1} \left(f(i, y_i) \sum_{j=N}^i \frac{1}{c_{j-1}} \right) \geq \frac{1}{M} \sum_{i=N}^{n-1} \left(f(i, y_i) \sum_{j=N+1}^i \frac{1}{c_{j-1}} \right) = \\ &= \frac{1}{M} \sum_{i=N}^{n-1} f(i, y_i) \mu_{i,N}. \end{aligned}$$

Hence

$$b_n \Delta(c_n \Delta y_n) \geq \frac{1}{M} \sum_{i=N}^{n-1} \mu_{i,N} f(i, y_i). \tag{13}$$

The strong superlinearity of equation (E), (3), (1) and $\rho_n \leq 1$ imply

$$f(i, y_i) \geq \frac{f(i, k^* \rho_i)}{(k^* \rho_i)^\alpha} [b_i \Delta(c_i \Delta y_i) \rho_i]^\alpha \geq (k^*)^{-\alpha} [b_i \Delta(c_i \Delta y_i)]^\alpha f(i, k^* \rho_i).$$

From (13) and the above

$$\begin{aligned}
 [b_n \Delta(c_n \Delta y_n)]^{-\alpha} &\leq \left(\frac{1}{M} \sum_{i=N}^{n-1} \mu_{i,N} f(i, y_i) \right)^{-\alpha} \leq \\
 &\leq \left(\frac{1}{M} \sum_{i=N}^{n-1} \mu_{i,N} (k^*)^{-\alpha} [b_i \Delta(c_i \Delta y_i)]^\alpha f(i, k^* \rho_i) \right)^{-\alpha}.
 \end{aligned}$$

Multiplying the last inequality by

$$\mu_{N,n} [b_n \Delta(c_n \Delta y_n)]^\alpha f(n, k^* \rho_n)$$

we get

$$\begin{aligned}
 \mu_{N,n} f(n, k^* \rho_n) &\leq \\
 &\leq \frac{1}{(k^* M)^\alpha} \left(\sum_{i=N}^{n-1} \mu_{i,N} [b_i \Delta(c_i \Delta y_i)]^\alpha f(i, k^* \rho_i) \right)^{-\alpha} \mu_{N,n} (b_n \Delta(c_n \Delta y_n))^\alpha f(n, k^* \rho_n) \leq \\
 &\leq \frac{1}{(k^* M)^\alpha} \frac{\mu_{N,n} (b_n \Delta(c_n \Delta y_n))^\alpha f(n, k^* \rho_n)}{\left(\sum_{i=N}^{n-1} \mu_{i,N} [b_i \Delta(c_i \Delta y_i)]^\alpha f(i, k^* \rho_i) \right)^\alpha}.
 \end{aligned}$$

Summing the above from N to $n - 1$, we get

$$\begin{aligned}
 \sum_{i=N}^{n-1} \mu_{N,i} f(i, k^* \rho_i) &\leq \frac{1}{(k^* M)^\alpha} \sum_{i=N}^{n-1} \frac{\mu_{i,N} (b_i \Delta(c_i \Delta y_i))^\alpha f(i, k^* \rho_i)}{\left(\sum_{j=N}^{i-1} \mu_{j,N} [b_j \Delta(c_j \Delta y_j)]^\alpha f(j, k^* \rho_j) \right)^\alpha} \leq \\
 &\leq \frac{1}{(k^* M)^\alpha} \sum_{i=N}^{\infty} \frac{\Delta z_i}{(z_i)^\alpha} < \infty
 \end{aligned}$$

where $z_i = \sum_{j=N}^{i-1} \mu_{j,N} [b_j \Delta(c_j \Delta y_j)]^\alpha f(j, k^* \rho_j)$. Hence, by (12), (H1)

$$\sum_{n=N}^{\infty} \nu_{n,N} f(n, k^* \rho_n) < \infty.$$

This contradicts (7), which gives us the required result.

This completes the proof of this theorem. □

REFERENCES

[1] Agarwal R. P., *Difference equations and inequalities. Theory, methods and applications*, Marcel Dekker, Inc., New York, 1992.

- [2] Cheng S.S., *On a class of fourth order linear recurrence equations*, Internat. J. Math. and Math. Sci. 7(1) (1984), 131–149.
- [3] Elaydi S. N., *An introduction to difference equations*, Springer, 1996.
- [4] Graef J. R., Thandapani E., *Oscillatory and asymptotic behavior of fourth order nonlinear delay difference equations*, Fasc. Math. 31 (2001), 23–36.
- [5] Hooker J. W., Patula W. T., *Growth and oscillation properties of solutions of a fourth order linear difference equation*, J. Aust. Math. Soc. Ser. B 26 (1985), 310–328.
- [6] Kelly W. G., Peterson A.C., *Difference equations*, Academic Press, Inc., Boston-San Diego, 1991.
- [7] Migda M., Musielak A., Schmeidel E., *On a class of fourth order nonlinear difference equations*, Advances in Difference Equations 1 (2004), 23–36.
- [8] Migda M., Musielak A., Schmeidel E., *Oscillation theorems for a class of fourth order nonlinear difference equations*, *Proceedings of the Eight International Conference on Difference Equations and Applications*, edited by S. Elaydi, G. Ladas, B. Aulbach, O. Dosly, CRC, Boca Raton, FL, (2005), 201–208.
- [9] Migda M., Schmeidel E., *Asymptotic properties of fourth-order nonlinear difference equations*, Math. Comput. Modelling 39 (2004), 1203–1211.
- [10] Liu B., Yan J., *Oscillatory and asymptotic behavior of fourth order nonlinear difference equations*, Acta Math. Sin. 13(1) (1997), 105–115.
- [11] Popena J., Schmeidel E., *On the solution of fourth order difference equations*, Rocky Mountain J. Math. 25(4) (1995), 1485–1499.
- [12] Schmeidel E., *Oscillation and nonoscillation theorems for fourth order difference equations*, Rocky Mountain J. Math. 33(3) (2003), 1083–1094.
- [13] Schmeidel E., *Nonoscillation and oscillation properties for fourth order nonlinear difference equations*, *Proceedings of the Sixth International Conference on Difference Equations, New Progress in Difference Equations*, edited by B. Aulbach, S. Elaydi, G. Ladas, CRC, Boca Raton, FL, 2004, 531–538.
- [14] Schmeidel E., Szmanda B., *Oscillatory and asymptotic behavior of certain difference equation*, Nonlinear Anal. 47 (2001), 4731–4742.
- [15] Smith B., Taylor W. E., *Oscillatory and asymptotic behavior of certain fourth order difference equations*, Rocky Mountain J. Math. 16(2)(1986), 403–406.
- [16] Smith B., Taylor W. E., *Oscillation properties of fourth order linear difference equations*, Tamkang J. Math. 18(4)(1987), 89–95.
- [17] Taylor W. E., *Oscillation properties of fourth order difference equations*, Port. Math. 45(1) (1988), 105–144.

- [18] Taylor W.E., Sun M., *Oscillation properties of nonlinear difference equations*, Port. Math. 52(1) (1995), 15–24.
- [19] Thandapani E., Arockiasamy M., *Oscillatory and asymptotic properties of solution of nonlinear fourth order difference equations*, Glas. Mat. 37(57) (2002), 119–131.
- [20] Zhang S.S., Cheng S.S., *On a class of nonlinear difference equations*, J. Difference Equ. Appl. 1 (1995), 391–411.

Ewa Schmeidel

ewa.schmeidel@put.poznan.pl

Poznań University of Technology

Institute of Mathematics

ul. Piotrowo 3a, 60-695 Poznań, Poland

Małgorzata Migda

mmigda@math.put.poznan.pl

Poznań University of Technology

Institute of Mathematics

ul. Piotrowo 3a, 60-695 Poznań, Poland

Anna Musielak

musielak@math.put.poznan.pl

Poznań University of Technology

Institute of Mathematics

ul. Piotrowo 3a, 60-695 Poznań, Poland

Received: August 31, 2005.